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QUESTION 1

If a data store node has three values and one moves across an outgoing edge, how many are left?
A. two

B. none

C. one

D. three

Correct Answer: D

QUESTION 2

Which action retrieves the end objects from an instance of an association class?
A. ReadLinkObjectEndAction

B. ReadStructuralFeatureAction

C. ReadVariableAction

D. ReadSelfAction

E. ReadLinkAction

Correct Answer: A

QUESTION 3

What does the composite structure notation show in the exhibit?

o1iG

A. p is a port on a part of composite C, which is not shown.
B. p is a port providing a system service.

C. pis a hidden port.
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D. p is a behavior port.

Correct Answer: C

QUESTION 4

By what means can a design document be associated with the component it describes? (Choose three)
A. import

B. dependency

C. association end subsets

D. ownership

E. inheritance

F. power types

Correct Answer. ABD

QUESTION 5

An employee inadvertently removed all of the ownedMembers of the new BoosterMotor component from his
company\\'s development repository. The next day, the manager was unable to find some pieces of the BoosterMotor
component\\'s specification. What pieces could the manager no longer find? (Choose two)

A. the component\\'s isIndirectlylnstantiated attribute

B. the component repository

C. test scripts for the rocket sled simulation

D. the launch assembly housing the BoosterMotor

E. failure mode use cases

Correct Answer: CE
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